Which Answer? 20x7iscorrect
Which number sentence matches this array?

10 10 10 10 10 10
10 10 10 10 10 10
- VN -
20x7=140 [ (o 70l1a0)  L2%70=140

10

10

3x5=15,5x3 =15,

Read the Pictures . .. _ 150, 3 50 = 150

For each array, write two number sentences:

. . . . . 10 10 10 10 10
. . . . . 10 10 10 10 10
. . . . . 10 10 10 10 10
3 % = X =
5 x = X =
True or False? v or x <2040 =80 ) False
30x6=180 [ ~
— 80 x 2 = 106 5 % 40 = 200
False True
Different Ways
60x| |=240 x| |=240 x| |=240
x| |=240 x| [=240 x| |=240

Example answers: 60x4 = 240 120x2 =240 3x80 = 240—there are more



